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TRUONG DAl HOC VAN LANG
PON VI: KHOA NGOAI NGU
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Hoc ky 2, nam hoc 2023-2024

I. Thong tin chung

Tén hoc phan: | Boc 2
M4 hoc phan: | 7LENGL30382 Sé tin chi: | 2
M4& nhém 16p hoc phan: | 232_71ENGL30382_05,06

Hinh thic thi: Tric nghiém két hop Tw luan Thoi gian 1am bai: | 60 | phut
Thi sinh dwec tham khdo tai li¢u: [1Co Khéng

1. Format dé thi

- Font: Times New Roman

- Size: 13

- Tén cé&c phuong an lya chon: in hoa, in dam

- Khong sir dung nhay chir/sé ty dong (numbering)

- Méc dinh phuong an ding luon luon 1a Phuong an A ghi ANSWER: A

- Tong sb cau hai thi:

- Quy udc dit tén file dé thi:

+ M4 hoc phan_Tén hoc phan_Ma nhém hoc phan_TNTL_De 1

+ M hoc phan_Tén hoc phan_M4& nhém hoc phan TNTL De 1 Mi dé (Néu si# dung
nhiéu ma dé cho 1 lan thi).

2. Giao nhan dé thi

Sau khi kiém duyét dé thi, dap an/rubric. Trweéng Khoa/B$ mén g dé thi, dap an/rubric
vé Trung tam Khao thi qua email: khaothivanlang@gmail.com bao gém file word va file pdf
(nén lgi va dat mgt khau file nén) va nhan tin + ho tén nguoi g qua sé dién thoai
0918.01.03.09 (Phan Nhat Linh).
- Khuyén khich Giang vién bién soan va nop dé thi, dap an bang File Hot Potatoes. Trung
tam Khao thi giri kém File cai dit va File hudng dan sir dung dé hd tro Quy Thay C6.

Trang 1/ 14


mailto:khaothivanlang@gmail.com

I1. Cac yéu cau cia dé thi nhim dap &ng CLO
(Phan nay phdi phdi hop véi thdng tin tir dé ciong chi tiét cia hoc phan)
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Trong so ,
. N , CLO tron I 2 X La,y dir liéu
YU Ngidungcro | IR NG | pany ph‘fl?l Couhot | Diem 0 | g, lli’/(‘rng M
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6 dén
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hoc thuat tir 300 | nghiém
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CLO3 |, .. .| +Trac 50%
bai doc hoc thuat nghiem T rd
ta 300 déﬁ 500 : cau 1
tir 300 @én 500 L A
tr dén cau
5 (tu
luan)

Chu thich céc ct:

(1) Chi liét ké cac CLO dwoc danh gid béi dé thi két thic hoc phan (tuong g nhw dd mé ta trong
dé ciong chi tiét hoc phan). Lueu y khéng diwea vao bang nay cac CLO khong dung bai thi két thuc hoc
phan dé ddanh gid (c6 mot s6 CLO duwoc bé tri danh gia bang bai kiém tra giira ky, danh gid qua dw
dn, do &n trong qué trinh hoc hay cac hinh thize ddnh gid qud trinh khdc chir khdng bé tri danh gid
bang bai thi két thic hoc phan). Triong hop mét sé CLO vira diegc bé tri danh gia qud trinh hay giira
Ky Vira diroc bé tri danh gid két thic hoc phan thi van diwea vao cét (1)

(2) Néu ngi dung cua CLO tuwong ung.

(3) Hinh thirc Kiém tra danh gid cé thé 1a: trac nghiém, tu lugn, du dn, dé an, vén dép, thuc hanh
trén may tinh, thec hanh phong thi nghiém, bao céo, thuyér trinh, ..., phir hop véi ngi dung cua CLO
va mo ta trong dé curong chi tiét hoc phan.

(4) Trong sé mize dé quan trong cua tung CLO trong dé thi két thac hoc phan do gidng vién ra dé
thi quy dinh (mang tinh tuwong doi) trén co sé mire do quan trong cua tung CLO. Day la co s¢ daé
phan phai ty 1é % sé diém téi da cho cdc cdu hdi thi dimg dé danh gia cac CLO twong g, bdo dam
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CLO quan trong hon thi dwegc danh gid véi diém sé téi da I6n hon. Cét (4) ding dé hé tror cho cét
(6).

(5) Liét ké cac cau hai thi sé (cau héi sé ... hodc tir cAu hdi sé... dén cau héi Sé...) ding dé kiém
tra nguoi hoc dat cac CLO twong ung.

(6) Ghi diém s6 téi da cho méi cau héi hogc phan thi.

(7) Trong truong hop ddy la hoc phan cot 18i - si dung két qud danh gid CLO ciia hang twong 1ing
trong bang dé do heong danh gic mirc dg nguoi hoc dat diroc PLOIPI - can liét ké ky hiéu PLO/PI c6
lién quan vao hang twong vmg. Trong dé cuwong chi tiét hoc phan ciing can md td ré CLO twong 1vmg
ciia hoc phan nay sé duwoc sir dung lam dir liéu d@é do luong danh gia cac PLO/PI. Truong hop hoc
phan khong c6 CLO nao phuc vu viée do heong danh gid mire dat PLO/PI thi dé trong cét nay.

I11. N§i dung cau héi thi
PHAN TRAC NGHIEM (21 cau + 0,4d/ cau — Phan I; 0,25d/ cdu — Phan 11 & 111)

Part I: Read the passage below and match the headings with the correct paragraphs (2
marks)

(A) Here is what global warming could do in a few years: in Dallas, a doubled level of
carbon dioxide would increase the number of days a year with temperatures above 100
degrees from nineteen to seventy-eight. On sixty-eight days, as opposed to the current four,
the temperature wouldn’t fall below 80 degrees at night. One hundred and sixty-two days a
year, the temperature would top 90 degrees.

(B) Although most scientists agree that increasing levels of carbon dioxide and other
greenhouse gases will inevitably lead to global warming, no one is certain how fast and how
much temperatures will rise and what the effects will be in any geographical areas. This gives
policymakers an excuse for delaying action. Some experts predict that within two centuries
glaciers in the North and South Poles will melt, ocean levels will rise, and much of what is
now the coast of the United States will be under water. They also predict great droughts and
hurricanes, as a result of climate changes.

(C)  Other scientists think the changes will be much more gradual, even beneficial. After
all, Canada would not complain if the productive corn-growing lands — now located in the
U.S. Midwest — were shifted north across the border.

(D)  While many nations could end up with milder climates, the change — perhaps 100 times
faster than at any time in human history — could be so drastic that many of the benefits would
be lost. There could be crowds of environmental refugees, as well, making the tragedy of the
Dust Bowl era seem mild in comparison.

(E) What can we do? People's contributions to the greenhouse effect come from so many

basic activities that we can’t hope to eliminate it completely. Some steps have already been
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taken. Since the 1970s, the use of CFCs as aerosol-can propellants has been banned in the
United States.

(F)  Another strategy is to burn as much methane as possible. This adds CO, to the air, but
since methane traps twenty times as much heat as CO,, the net result is worthwhile. The gas
in many garbage landfills is already being used in a number of places around the United States.

It is being used to heat thousands of homes.

Paragraph A

A. Global warming in the future

B. The potential loss

C. Burning more methane

D. A ban on propellant

E. Uncertain future of rising global temperature
ANSWER: A

ParagraphB

A. Uncertain future of rising global temperature
B. The potential loss

C. Burning more methane

D. A ban on propellant

E. Global warming in the future

ANSWER: A

ParagraphD

A. The potential loss

B. Uncertain future of rising global temperature
C. Burning more methane

D. A ban on propellant

E. Global warming in the future

ANSWER: A

Paragraph E
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A. A ban on propellant

B. Uncertain future of rising global temperature
C. Burning more methane

D. The potential loss

E. Global warming in the future

ANSWER: A

Paragraph F

A. Burning more methane

B. Uncertain future of rising global temperature
C. The potential loss

D. A ban on propellant

E. Global warming in the future

ANSWER: A

Part 11: Read the text below and decide if the statements are True, False, or Not Given.
(2 marks)
TRUE - if the statement agrees with the text

FALSE — if the statement disagrees with the text
NOT GIVEN - if there is no information on this

1 Laws that ban smoking in public places are not exactly a new idea. One of the world’s
first smoking bans was introduced in 1575, when the Roman Catholic Church passed a law
that made it illegal to smoke in any church in the Spanish colonies of Central America. In the
eighteenth century, a number of German and Austrian cities also banned smoking, not in
specific locations or buildings, but anywhere in the city. Some of these bans were based on
ideas about health. Others were more concerned with safety. The Old Government Building
in Wellington, New Zealand banned smoking in the 19th century because the building was
made entirely of wood; smoking was a fire risk.

2 In the second half of the twentieth century, campaigns began to make people aware of
the health dangers of smoking, and the concept of passive smoking — or breathing other
people’s smoke — became a widespread concern. As a result, governments passed laws in the

1970s to control the use of tobacco, and restaurants and other public places began to create
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smoking and non-smoking sections. But it wasn’t until the late 1990s that public smoking
bans became widespread. California led the way in the US when it became the first US state
to prohibit smoking in all public places in 1998. By 2010, nearly eighty percent of American
states had introduced smoking bans. Elsewhere, ventilation systems were installed in public
places, and smokers’ lounges were created as alternatives to complete bans.

3 Not everyone is happy about the introduction of smoking bans. Not surprisingly,
tobacco companies, restaurants and bars are concerned about losing business because of the
new restrictions. Smokers often complain that by limiting the places where they can smoke,
smoking bans unfairly limit their freedom. Plus, it is difficult to break the habit and give up
smoking. But nowadays most people accept the overwhelming scientific evidence that
smoking harms our health and can cause lung and heart disease. Furthermore, research shows
that smoking bans have resulted in a reduction in smoking-related diseases and deaths. We
shall have to see whether in the future every country in the world will follow suit and impose

bans on smoking in public places.

One of the earliest anti-smoking laws prohibited smoking in churches in Mexico and other
Spanish colonies.

A. True

B. False

C. Not Given

ANSWER: A

In modern times laws about smoking were introduced because of fears about second-hand
smoke.

A. True

B. False

C. Not Given

ANSWER: A

Most smoking bans in the past were more concerned with health than safety.
A. False
B. True
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C. Not Given
ANSWER: A

After 2010, there were nearly seventy percent of American states had introduced smoking
bans.

A. False

B. True

C. Not Given

ANSWER: A

The smoking ban in California was important because it set an example for other US states.
A. True

B. False

C. Not Given

ANSWER: A

Currently, there are hundreds of tobacco companies going bankrupt because of smoking
restrictions.

A. Not Given

B. False

C. True

ANSWER: A

Not many smokers feel that people should be free to choose where they want to smoke.
A. False

B. True

C. Not Given

ANSWER: A

It is difficult to prove that smoking has a negative effect on health.
A. False
B. True

Trang 7/ 14



BM-003

C. Not Given
ANSWER: A

Part I11: Read the text and choose the correct answer to each given question. (2 marks)
(A) Here is what global warming could do in a few years: in Dallas, a doubled level of
carbon dioxide would increase the number of days a year with temperatures above 100
degrees from nineteen to seventy-eight. On sixty-eight days, as opposed to the current four,
the temperature wouldn’t fall below 80 degrees at night. One hundred and sixty-two days a
year, the temperature would top 90 degrees.

(B) Although most scientists agree that increasing levels of carbon dioxide and other
greenhouse gases will inevitably lead to global warming, no one is certain how fast and how
much temperatures will rise and what the effects will be in any geographical areas. This gives
policymakers an excuse for delaying action. Some experts predict that within two centuries
glaciers in the North and South Poles will melt, ocean levels will rise, and much of what is
now the coast of the United States will be under water. They also predict great droughts and
hurricanes, as a result of climate changes.

(C) Other scientists think the changes will be much more gradual, even beneficial. After
all, Canada would not complain if the productive corn-growing lands — now located in the
U.S. Midwest — were shifted north across the border.

(D)  While many nations could end up with milder climates, the change — perhaps 100 times
faster than at any time in human history — could be so drastic that many of the benefits would
be lost. There could be crowds of environmental refugees, as well, making the tragedy of the
Dust Bowl era seem mild in comparison.

(E) What can we do? People's contributions to the greenhouse effect come from so many
basic activities that we can’t hope to eliminate it completely. Some steps have already been
taken. Since the 1970s, the use of CFCs as aerosol-can propellants has been banned in the
United States.

(F)  Another strategy is to burn as much methane as possible. This adds CO, to the air, but
since methane traps twenty times as much heat as CO,, the net result is worthwhile. The gas
in many garbage landfills is already being used in a number of places around the United States.

It is being used to heat thousands of homes.

What can be the best title of this passage?
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A. Harmful global warming and solutions
B. Carbon dioxide emissions and effects
C. Methods of burning fossil fuels safely
D. Rising global temperature under control
ANSWER: A

What is true about global temperature?
A. 1t will increase dramatically.

B. It can fall below 30 degrees.

C. It can be predicted very easily.

D. It will remain thirty over time.
ANSWER: A

What will happen at the North and South Poles?
A. Glaciers will be melted.

B. Sea water will become less salty.

C. The US will float as an island.

D. Penguins will be killed.

ANSWER: A

What is the main idea of the second paragraph?
A. The harm of global warming is unpredictable.
B. Scientists are delaying studying global warming.

C. The glaciers at poles will be quickly melted.

D. More greenhouse gases and CO, will be emitted.

ANSWER: A

What is Paragraph D about?

A. great pace of global warming

B. necessary humans’ contributions

C. unexpected falls of the current global heat

D. the widespread damage to many countries
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ANSWER: A

What can be done to prevent the global warming?
A. burning less harmful gases

B. burning more fossil fuels

C. constructing more storage heaters

D. halting people’s influences

ANSWER: A

Which word is closest in meaning to “beneficial” in Paragraph C?
A. advantageous

B. challenging

C. detrimental

D. wonderful

ANSWER: A

What is the synonym of the word “mild” in Paragraph D?
A. pleasant

B. harsh

C. arid

D. plain

ANSWER: A

PHAN TU LUAN (13 cau + 0,4d/ cdu — Phan IV; 0,25d/ cdu — Phan V)

Part 1V: Read the passage and USE NO MORE THAN 10 WORDS to write your own

answers to the following questions. (2 marks)

1 Laws that ban smoking in public places are not exactly a new idea. One of the world’s

first smoking bans was introduced in 1575, when the Roman Catholic Church passed a law
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that made it illegal to smoke in any church in the Spanish colonies of Central America. In the
eighteenth century, a number of German and Austrian cities also banned smoking, not in
specific locations or buildings, but anywhere in the city. Some of these bans were based on
ideas about health. Others were more concerned with safety. The Old Government Building
in Wellington, New Zealand banned smoking in the 19th century because the building was
made entirely of wood; smoking was a fire risk.

2 In the second half of the twentieth century, campaigns began to make people aware of
the health dangers of smoking, and the concept of passive smoking — or breathing other
people’s smoke — became a widespread concern. As a result, governments passed laws in the
1970s to control the use of tobacco, and restaurants and other public places began to create
smoking and non-smoking sections. But it wasn’t until the late 1990s that public smoking
bans became widespread. California led the way in the US when it became the first US state
to prohibit smoking in all public places in 1998. By 2010, nearly eighty percent of American
states had introduced smoking bans. Elsewhere, ventilation systems were installed in public
places, and smokers’ lounges were created as alternatives to complete bans.

3 Not everyone is happy about the introduction of smoking bans. Not surprisingly,
tobacco companies, restaurants and bars are concerned about losing business because of the
new restrictions. Smokers often complain that by limiting the places where they can smoke,
smoking bans unfairly limit their freedom. Plus, it is difficult to break the habit and give up
smoking. But nowadays most people accept the overwhelming scientific evidence that
smoking harms our health and can cause lung and heart disease. Furthermore, research shows
that smoking bans have resulted in a reduction in smoking-related diseases and deaths. We
shall have to see whether in the future every country in the world will follow suit and impose

bans on smoking in public places.

Cau héi 1: (0,4 diém): When was the first smoking ban introduced?

Cau héi 2: (0,4 diém): What is passive smoking?

Cau héi 3: (0,4 diém): What were innovations considered as alternatives to complete
smoking bans?

Cau héi 4: (0,4 diém): Why do most smokers often complain that smoking bans unfairly

limit their freedom?
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Cau héi 5: (0,4 diém): What is the main idea of Paragraph 3?

Part V: Complete the following sentences with 8 out of 10 words or phrases from the

box. You don’t need to change the word forms. (2 marks)

sponsor reusable estimate rely on perceive
dependable desire proof efficient emerge
Cau héi 6: (0,25 diém): They had a strong for revenge for the assassination.
Cau héi 7: (0,25 diém): Some people a challenge as stressful while others see it

as a new opportunity for personal growth.

Cau heéi 8: (0,25 diém): It is very difficult to find for the idea that dreams are the
brain’s way of solving problems.

Cau héi 9: (0,25 diém): The United Nations and other organizations that over a

billion people live in poverty.

Cau héi 10: (0,25 diém): The service was not totally , SO we chose another
company.
Cau héi 11: (0,25 diém): Many companies regularly sports teams so that they

can put advertising on their uniforms.

Cau héi 12: (0,25 diém): As we get older, our bodies become less at burning up
calories.

Cau héi 13: (0,25 diém): The industries the price of raw materials remaining
low.

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi | Néi dung dap an Thang diém | Ghi chu
l. Triic nghiém 6.0
Caul->5 1. Global warming in the future 0,4
2. Uncertain future of rising global
temperature

3. The potential loss

4. A ban on propellant

5. Burning more methane
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Cau6-13 6. True 0,25
7. True
8. False
9. False
10. True
11. Not Given
12. False
13. False
Caul14-21 14. Harmful global warming and 0,25
solutions
15. It will increase dramatically.
16. Glaciers will be melted.
17. The harm of global warming is
unpredictable.
18. great pace of global warming
19. burning less harmful gases
20. advantageous
21. pleasant
Il. Tw luan 4.0
Phan IV
Caul in 1575 0,4
Cau 2 breathing other people’s smoke 0,4
Céau 3 ventilation systems and smokers’ 0,4
lounges
Cau4 Smoking bans limit the places 0,4
where they can smoke.
Caub Not everyone is happy about the 0,4
introduction of smoking bans.
Phan V
Cau 6 desire 0,25
Cau7 perceive 0,25
Cau 8 proof 0,25
Cau 9 estimate 0,25
Cau 10 dependable 0,25
Cau 1l sponsor 0,25
Cau 12 efficient 0,25
Céu 13 rely on 0,25
Piém tong 10.0
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TP. Hé Chi Minh, ngay 13 thang 2 ndm 2024

Ngudi duyét dé Giang vién ra dé
TS. Nguyén Hoa Mai Phuong Duong Thanh Hung Duc
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